Es—1a szt.l

0. Z0 < o
. . S 2
> ~Es 2 5 o
a2 s |Ex|| 8 = N -
= > < s .~ N
0 <D | w~ = 2 !
= o |20 g T 3 =
- vl m.m W< BMV @D
— i c:lzZ L ||
© = o7 0 S|W>=s — | |¥
- — C &|OO|| 3 S| 3
_ < = Z X 850 £, R|E
- mn 2 S CEMIISHES 8
c 3 xOllos pd
SR >3 EE Hglls < |3
S Q| s W — 2 N
= = O 5|50 352 3 B
o~ =T - = > 2 <Z| | EX||S IS >
72! =X = N 3| || 59| & Py
= B = O 2 10| 2| 8x 2 L 5 <
e (@) U2 W ™~ c &< T = E| B - = 1 m
- = L FEIEEIERIEE R R X
B g = = 23R 3 2e 3 2
= - . 9 T 5 |eX| | =2 23 s w2 K
R = O 2 wo||k=glls £ MR
= 3 S o g = Fd||<i 2 w2 2
= 3 2 Z . S g 2
v = W — ~ o 5 213 3| [ ¥ allz
= 2 g & B9 2|2 Z . b
& Z 5 |18 |85 | 52 |8 E
| | | | | | | | | | | |
7%; 78; 78; 78; 78; 7%;
i T il il e
| | , | || - | |
| , N | u |
| , n n n | , , 9l
| , i i n |
||| | ]| I | n |1 @ 65 7 ¢ol 7 06
| , | | | |
= @ , |- | , | —————— - ]
| | | | 1! g e— TR
, | i i n |
U @ ! :@ I @: N 3
Il ! I || I | ¥X0GX0G DJNnJ
S Q S a o
0| o 8§ i | YR I A AN s
o I e , i i n |
| R o ] NN L vzel vzzl L vzel 549 L i | | | | | @
LCD =k | 1 ! i i i i i ! ! ! ! ! ! ,
4 [ [ I N N :\‘KLT \\\\\\\\\\\\\\\\ g\wL\L,\\\[\\\\%\\\L\\\\F\\\L \\\\\ I R R R R B J— 2
i ] ] i n | i ] o
| 1 i i n | i ] 3
| 1 u n | | |
ol | | N N | | | =P 08l
R | | | || | | | | S|
CI ] 1l 11 1l Il 1] [ =@ S S
ii N 1 I | 1| 0Cg MOIOMO 8 1 il 5 - -
VAR Y S Y oA VA A N B 0L 4\ 0L
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ ]
/ - :
5¢ 019 L6Y izaa e 16¢ 65¢! \ 0¢61 &
0899
©
X0/ X0/ DINJ @
o@)]
>
Lo
o 2801 @ S
sl Tisl = | S -
Lo \\@T \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ = —
0z & =F . 6 =
\O
029 0011 B S| = / = L

| L wv/‘w, T ‘\%%
ﬁ 0sS 260! 8 7901 = e 2

95
1

otwory 914
5 25 otw

7  8x190
600
2 M12x50 kI.10.9

: 4 Mw / e —
— 7 7
ap = M = 280! 009 ©)
s7| TisT =
yX0LX0L ©N =
X0/ X0/ DInJ -
Lo = - R ] 0S] .
=
2801 o~ o
. PXOCX0G DINJ @ S | o] 2 S
0zl > = e = 0Ll
0011 ? = SiI= S s =1 )
- <& 2= 05] 02705
¢80l & 0zL1 2|~ N — = [0c] J 7
J AN = o | Jg < _M ~
AN, S ————— =) . 08 ] 0ok = 06z 212 BRIV T o
| g 0% 6l [66 8 = =|5 f | g ©)
Q2 o © ¢ 07l &7
0GS - | O 1 e © I3 o Q
@ 7X0GX0G DI = L T xS NS B
#X0GXQG DInl : o — L | =
4 N = . _ w
= -
o —
~ 2., R = «
S N <ls ol o6 oL
M 2 I
J 23 T -
= (@) o
ot ~L 2 S
[ =¥ ¢ge Aomyo 7
0979 o 3
GS'eS
o
2
—
s
o = or 08l oy
: ©
- (@) OLW N| —
| S A PT 4| S = 2
055 I 2| g 38
— [@N} =< | L© =
o 9 o o <|™ >
- : — _| ® o 5
Ly — = o e N s
- / 7 — — 5 — " i
~- = O o
@ PN / \ = | S = ~
~+

150
100
50,50
“\

\
|
f
[
|
|
‘\

7

2 otwory 927

+12,915
<
(6)
©

//mw | ~—~ ] = 06 1 68 1 c9
(N @ [@N]
& @SN 00 Olg7] f 09¢

u45\
T

\

\

\

\

\

\

|

\

\
L




